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= =25 Fl = = o =D
20243 HAHE SE22H HM2X FIOHEE 204N SZ2H
el ®Y)
>+ 9 9o = 1o o =
202431 E | . | cocdsidoE | _ = oo 2004317101 | _ . | 2024zideiE | _ oo
a3 =2 |on=zza gqew | TEY | juzy gaw | TS| SASS 3 =2 |ox=zz oaw | T ynay g [ TEH| SAZS
(%) (%) (A-B) (%) (%) (A-B)
(A) (8) (A) (8)
s=329 111,897,908 | 95.8 108,730,325 | 95.5 | 3,167,583 =4 56,876,170 | 48.7 56,785,194 | 49.9 90,976
PEBEE
ad = JI= - - - - - lzai29u 16,490,262 | 14.1 15,073,944 | 13.4 | 1,205,318
T g
nEC PN - - - - o PEEVE 25.257,110 | 21.6 23,774,006 | 20.9 | 1,483,014
089 29 1,376,359 | 1.2 1677604 | 15| 301,265 |[mseuie 251,000 | 0.2 250,500 | 0.2 500
E I
IZ,W'E*M - - - - o eSS 2,280,272 2.0 2,485,272 2.2 205,000
T g
DA KA OHZH
QSR O 3| 0.0 3| 0.0 ~ {louig 125,671 | 0.1 95,279 | 0.1 30,392
T
=
es2 22 - - - - S P - - - - -
DA AR !
EeH 22 - - - - - ;é”“'” 5,466,465 | 13.2 15,005,347 | 13.4 241,118
Ssemas - - -1 - -
DESHAE - - -1 - —
g 113,074,270 | 97.0 110,407,952 | 96.9| =2.866,318[ & A 116,755,950 | 100.0 113,889,632 | 100.0 | 2,866,318
22X =T
g:g;;” 3,481,680 | 3.0 3,481,680 | 3.1 - g:g;ﬂ” - - . -
Saolola EELT
AER 116,755,950 | 100.0 | 113,889,632 | 100.0 | 2,866,318 [ = " 116,755,950 | 100.0 | 113,889,632 | 100.0 | 2,866,318
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A = 0O & A

(20244 038 01L2H 20253 028 282 NtHXl)

1. ¢ (Etel: el
o = 20243/ S = | 2024301 = Aol
- - — 283 doa | 1mR oo | " EE 2
5100 SSE==¢¥ 111,897,908 108,730,325 3,167,583
5110 S=E==¥ 111,897,908 108,730,325 3,167,583
5111 - - -
sSFgsas
g -
5112 765,750 651,640 114,110
etdgs= e MFAMEY SE= BAM F2>
—JISUHZHSE AA 18Xt 620,000 x38H 23,560,000
—JISUAEZUHSA A 25X 620,000 1 620,000
—JISUHZ A AAF 38Xt 620,000 %1 620,000
—JISudEUSE HA 38MAF 620,0008 1 620,000
—JISUHZHEA AAF 48X 620,000 x2H 1,240,000
—JISudEUSE &A1 R 830,000 %928 76,360,000
—JISUHZHEA 2FAF 38Xt 830,000 6 4,980,000
—JISWEEUSE A 457 830,000 1 830,000
—JISUHZ A 2HAF 65X 830,000 x4 H 3,320,000
—JISudEUSE S AL 1SR 830,000 5 4,150,000
— PSR AAF 151X 620,000 x99 61,380,000
— Alstiista HAH 15X 620,000 %2708 167,400,000
—alsttist@ HAF 2R 620,000 x6 S8 3,720,000
— AIstiista A AF 35X 620,000 *6H 3,720,000
— Astiist@ A 45X 620,000 *3H 1,860,000
— A MASII S A AAF 188X} 620,0003«15E 9,300,000
— WSt AAF 15X 620,000 *7138 44,020,000
— WSS A 3SHX 620,000 %1 Eé 620,000
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'9,632°& 33,705,072,000&
'7,243" 3 30,430,646,000&

= 202431 T | 20243 A =
— ORI GlAF | 1XIEA ol A < AEDN 2
= g = (A) (8)

— 2A=XIER AAF 1555 620,0002 %382 23,560,000
— A SRR A AR 18HXF 620,0003 %148 91,760,000
— AFCHTHBIR A A} 28H R} 620,000 *4 S 2,480,000
— AEHOH SR A AL 38HXF 620,000 *2H 1,240,000
— 235102 HE R A AF 185 %} 620,0009 %372 22,940,000
— 230l=0std S A 1S 620,000 *x12H 7,440,000

® §&tel 28t)| Qlata
s SR AAF 28X 620,0003*1H 620,000
DB A AL 38HR} 620,0009 %1 620,000
MSOsHA AR 18X 830,000&«12H 9,960,000
— J|EWIEH%4% BEAF 258X} 830,0009 %2 1,660,000
2 8FAF 38X} 830,000 *1H 830,000
EbAF 63X} 830,0009 %3 2,490,000
A BEAF 18HX 830,000& x3H 2,490,000
—JEDHSYEY A BEAF 68X 830,000 1 2 830,000
— UBHHEHRA A AF 18 XF 620,000 *96H 59,520,000
— AIBHIHBIRl A AL 28H R} 620,000 %59 3,100,000
— AMSHIHEHR A AF 38HXF 620,000 +1H 620,000
5 43t %} 620,000 3 1,860,000
BAHE AAF 18X 620,000 x5H 3,100,000
— AEfER 8L %} 620,0002 x4 2,480,000
— ALEHOH SR A AL 38HXF 620,000 *1H 620,000
— AFCHTHBIRl A AL 5EHR} 620,000 %2 1,240,000
— 230l = A AF 28X 620,000 *3H 1,860,000
W HSAESH SRAES23H HEAE=2 22 O 114,110,000

8 765,750,000
511 87,922,068 87,922,068

33,705,072,000
30,430,646,000




= 20243 NSE | 202430E | - .o,
PHEZ Moo | 1x1m oaon | SAZ a2 2o
2 ) = ) ®8) )
—HEHE S22 =2 '1,576'H 6,948,716,000& 6,948,716,000 &
—sHE S22 =2 '3,656'H 16,632,344,000& 16,632,344,000 &
@ 2= SEFSHE 24
— MBS =82 90,0008 +1118HA 9,990,000 &
— 8| =2 90,0008 +100sHA 9,000,000 &
® HESD| 29
—olHAIAHESH)| =2 = 90,000&*970sHHE 87,300,000 &
—ZSAHAHESD| =22 90,000&*1,100&+H 99,000,000 &
gtH:| 87,922,068,000 &
23,210,090 20,156,617 3,053,473
< NEAYE SE2 GHM &>
—JSDNEIUSA AAF18X}F 3,921,000 x38H 148,998,000 &
—JESDNNIUsSH &AL 28X} 3,838,000 %2H 7,676,000 &
—JIESndEZsta A A 28Xt 3,838,000 +«1H 3,838,000 &
—JISHNNMISHSHA A AF 38X 3,838,000& *x32H 122,816,000 &
—JSnNEIUSHA A A 38X} 3,838,000 +1H 3,838,000 &
—JESNNIUsSH & A 38X} 3,838,000 +1H 3,838,000 &
—JSDNNEIUSHA &AL 48X} 3,736,000 x5 18,680,000 &
— J)ISNHMEBHSHA BFAF 18X 4,732,000& x92H 435,344,000 &
—J|SDHEIOSHRA BHAF 28X} 4,632,000& x20H 92,640,000 &
— J)ISWHMEHSHA BFAF 38X 4,632,000&x73H 338,136,000 &
—JSnNIOSH BHAF 38X} 4,632,000 «6H 27,792,000 &
—JESENHNIUSH BHAF 48R} 4,512,000 +«9H 40,608,000 &
—JSDNEIOSHA BHAF 48X 4,512,000 +1H 4. 512,000 &
— J)ISWHMEHSHA BFAF 58X 4,512,000& x60H 270,720,000 &
—JSDHEIOSHA BEAF 68X} 4,520,000&*x21H 94,920,000 &
—J|sSnNdIOSH3 A8AF 1SR 4,732,000 x5 23,660,000 &
—JSDHEIOSHA ABFAF 28X} 4,632,000 %2H 9,264,000 &
—J|sSnNdZ20sH3 A8FAF 38X 4,632,000 *3H 13,896,000 &
—JSDHEIOSHA ABFAF 48X 4,512,000 +«6H 27,072,000 &
— JISWNMBHSHA HBEAF 58X 4,512,000 x4H 18,048,000 &
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,405,000&+99H
5,294,000 +75%
5,294,000 +70&
4,220,000& 2704
4,123,000&+34Y
4,123,000& 64
4,123,000&+2434Y
4,123,000& 64
4,016,000&22H
4,016,000& 34
4,016,000&+2434Y
4,037,000 22H

Bt
4,678,000&*15H
4,581,000& 14
4,581,000&17H
4,395,000 *16H

1
0z
oin
Jh

,678,000&*71H

4,581,000& 34
4,581,000&+66H
4,581,000& 14
4,395,000 29

4,395,000& 64X

X+ 4,678,000 38

X+ 4,581,000 +7H
X+ 4,581,000& %30
Xt 4,460,000 x5
Xt 4,460,000& 29

St 4,520,000 +3H
b 4,520,000& 64

13,560,000
27,120,000
4,267,000
535,095,000
397,050,000
370,580,000

,139,400,000

12,369,000
24,738,000

,001,889,000

24,738,000
88,352,000
12,048,000
975,888,000
88,814,000
7,034,000
70,170,000
4,581,000
77,877,000
70,320,000
2,116,000
332,138,000
13,743,000
302,346,000
4,581,000
8,790,000
281,280,000
177,764,000
32,067,000
137,430,000
22,300,000
129,340,000




o = 202431 T | 20243 A = A 101

- — ORI GlAF | 1XIEA ol A e AEDN 2

= g = (A) (8)
— AEIHENR A AL 18HX} 4,678,000 148 692,344,000 2
— AR A AL 28X} 4,581,0003x6H 27,486,000 &
— AFEITHENR A AL 28H R} 4,581,000 <42 18,324,000 &
— A SR A AL 38HXE 4,581,0003 %138 632,178,000 &
— AFEITHENR A A 3BHR} 4,581,000 2% 9,162,000 &
— A SR A AL 45X} 4,460,0003 %189 80,280,000 &
— AFEITHENR A AL 5BHE} 4,460,0002%129% 575,340,000 2
— 230l=Usd SAF 1SR 5,717,0003*37H 211,529,000 &
— 250 2SR AAF 1857} 4,675,00080 %122 56,100,000 &
— 230l=Usrd A AF 38Xt 5,600,000 *32H 179,200,000 &
— 251025 A AF 35HX} 4,580,0009 %3 13,740,000 &
— 230l=Ustd SAF 45X 5,432,000 *9H 48,888,000 &
— 2350125 A AF 55F %} 5,432,0009 %332 179,256,000 ¢
— 230l=Ustd S AF 58X 4,400,000 *3H 13,200,000 &
® §atel 28| 292
—JISUNMIUSA AAF 28X 3,921,0003 %329 125,472,000 &
—JSDHES0EY AAF 25X 3,921,0009 %1 3,921,000 &
—JISUNMIUERA A A 38X 3,838,000 *x7H 26,866,000 &
—JSDHS0YEY A AF 35HX 3,838,0008 +1 3,838,000 2
—JISUNMIUEA AAF 45X} 3,838,000 *30H 115,140,000 &
—JSDMSEY BHAF 18HX} 4,732,00080 %122 56,784,000 &
—JISUNMIOEHRA SHAF 28X 4,732,000& x72Y 340,704,000 &
—JSDHES0EY YHAF 25HX} 4,732,0009 %2 9,464,000 2
—JISUNMIOERA AN 38X 4,632,000 %199 88,008,000 &
—JSDHDSYEY BHAF 35HX} 4,632,00090 %1 4,632,000 2
—JISUNMIUERA SHAF 458X 4,632,0003x67Y 310,344,000 &
—JEDHSYEY BHAF 55HXF 4,512,0009+8 36,096,000 &
—J|SDESEY YHAF 65HX} 4,512,00002 %49 021,088,000 2
—JEDHSOYEHY SBEAF 18R} 4,732,000 +32 14,196,000 &
—)SDHESOYEY HBAF 28t} 4,732,000 «6 08,392,000 ¢
—J)SEDHSYEHY SBEAF 38R} 4,632,000 <42 18,528,000 &
— J)|SDESYE MBEAL 48R} 4,632,000 <42 18,528,000 &
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o = 20243 0SS | 202431 H = e ] o
— ORI GlAF | 1XIEA ol A e AEDN o
= g = (A) (8)

— SN2 EY MBEAF 55X 4,512,000 <42 18,048,000 &
—JSDNHIUSHA ABAI 68X 4,512,000 +5H 22,560,000 &
—J)|SDHSYEY MBEAF 68 4,512,000 %1 4,512,000 &
—JSDHIOSHA ABHAF 78X 4,520,000 %5 H 22,600,000 &
—J)SDHSYEY SBEAF 88X 4,520,000 7 31,640,000 &
QOSSR A AF 18HXF 5,405,000& x96H 518,880,000 &
— UBHIIEIR A AL 28H R} 5,405,000 94 508,070,000 2
— UBHEHRA A AL 38HXF 5,294,0003 x75Y 397,050,000 &
— UBHHEIR A A} 4BHR} 5,294,000 +60 Y 317,640,000 2
— ASHEHR A AL 28H X 4,220,0003 %260 ,097,200,000 &
— AIBHIIEHR! A A} 28H R} 4,220,000 x5 21,100,000 ¥
— AESHEHRA A A 38HXE 4,123,0003 %20 82,460,000 &
— AIBHIHEHR! A A 3BHR} 4,123,000 %12 4,123,000 &
— AESHHEHRA A AL 45HXF 4,123,0003 %235 968,905,000 &
— AIBHIHEHR! A AL 4BHR} 4,123,000 32 12,369,000 &
— AESHEHRA A A 58HXF 4,016,000 %x15Y 60,240,000 &
— AIBHIHEIRl A AL 6BH R} 4,016,000 %220 883,520,000 &
— pISHIHSHR A AL gEHX} SEEEE 8,892,000 &
— AR MBI A AL 28H R} 4,678,000 %17 79,526,000 ¢
— AFMANESHSHRA A AF 3SR 4,581,000 *1H 4,581,000 &
— AR AIBIEIRl A A} 45H R} 4,581,00090 %162 73,296,000 ¢
— AMABHYER AAL 5BHR BIRES 2,616,000 2
— DS A 284X} 4,678,000 63 094,714,000 &
— WA A AF 38HXF 4,581,000&*x7H 32,067,000 &
— DS AL 48X} 4,581,000 %59 070,279,000 &
— WA A A 58X} 4,395,0003 x4H 17,580,000 &
— DS MAL G5BT} SIS E 2,132,000 &
— EAZXIER AAF 185X} 4,678,00090 %5 23,390,000 ¥
— BHSXEY A AL 25H R} 4,678,0009 %33 154,374,000 ¢
— EA=XIER A AF 355K} 4,581,00090 %5 02,905,000 ¢
— 2AS XIS Y AAF 4517} 4,581,00090 %302 137,430,000 &
— 2= XIHER A AL 555K 4,460,00090 %3 13,380,000 &
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o = 202431 T | 20243 A =
— ORI GlAF | 1XIEA ol A < 2
= g = (A) (8)
— AEE 4,678,0002 %1302 608,140,000 2
—AEER 4.678,000& 4 18,712,000 &
— AEiE 4,581,0009!*1 2 4,581,000 &
—AEER 4,581,000 +1H 4 581,000 &
— AEiE 4,581,000 1182 540,558,000 &
—AEER 4,460,000 %23H 102,580,000 &
— AEiE 460,000 «2 8,920,000 &
— AEER 1,063,000 &
23540l = O FXF 5,717,0009+39 % 022,963,000 &
=stol= Xt 4,675,000& *8H 37,400,000 &
23 FXt 5,717,0009«3% 17,151,000 &
=3t 5,600,000& *x2H 11,200,000 &
23 FXt 5,600,000 +27 9 151,200,000 ¢
=3t XF 4,580,000& x4H 18,320,000 &
23 FXF 5,432,000 x5 07,160,000 ¥
® harel H=eD| 22
—3524%90,000 2 «32 B2} &* 18,900,000 &
X sE3222 . 3,053,473,000 &
BIH:|  23,210,090,000
5120 224249 - - -
5121 - -
clA22
B - 2
915|240 - - -
5210 Ml 249 - - -
5216 - -
DLE
B - o
Y 1,376,359 1,677,624
5410 Ol 20| Xk 190,258 40,208
[5411 190,258 40,208




o = 202431 A1 | 2024310 = A 101
- — = OXIEZ O M | 1XHET Ol At ey MEDA =
= e = (A) (B)
VERE ® 020l Xt
—0f2 0l Xt 20,000,000 20,000,000
® Of&te 0 20| Xt
~ 201X 42 13,434,000 &
& HSAZRH SHAS=23 Y Lo AR(HSHASS 6,774,000 &
W HRH S S225H LA H20IK 2% =&
—S=3 FHIH2 Y22 I HZ0/XF ZH 120,00 120,000,000 &
W HSAERF oA SS9 LA (a2 ES 30,000,000 &
W S DSt PSR (SRS =38 (M) A 50,000 &
3 190,258,000 &
5420 JIEt D=2+ ¢ 1,186,101 1,637,416 451,315 1,186,101.000
5421 1,186,101 1,637,416 451315
&gl ® T4l
—& 291 1,613,836,000 1,613,836,000 &
© FS=AMHIA 1042 %10,0008 100,000 &
® 2QISE 0§2t 22 5,000,000 5,000,000 &
® D2H HSIS=223H B1-1-2 M2 A2)|8 DR
—20235HH T MOIAI% DS DY LAIR B4 18,48 18,480,000 &
W QIAIRIZIA HESIS235)) DXAALAS SIS ¢
—2023 RO DL S22 48,685,0002 48,685,000 &
WM HSS=25 ) APAR T4 2% 5 ~500,000,000 &
SH:|  1,186,101,000 &
1300 D& XAt %2 3 3 -
1310 S DR AAH2L S 3 3 -
1311 E XA - - - 83 - &
1312 AS 02t 0H - S - 4
1314 1 1 -
J1 4121 04 24 O ® B2ER 1,0002 1,000 2
S: 1,000 &
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=2
=

20243 H AT

20243 H A

e - EADI-OH
PXEZ Hlatoh | 1x1= olaron | SAZH 2o
% 2t s ) 8) )
1315 1 1 -
D" S 002 CH | 1,000& 1,000 &
gl 1,000 &
1316 1 1 -
AekSer2 02t | 1,000& 1,000 &
gl 1,000 &
1317 - - -
& A OH2HCH
21! _ =
AN 2 = e 8 H 113,274,270 110,407,952 2,866,318
OIAFEE D0 X2 | 3,481,680 3,481,680 =
1100 J| =S S Atk 44 468,732 44 468,732 =
1110 43,284,800 43,284,800 -
SESX3 & M2 HSt==225H 0IAIE0IEX2 SSi2 1 31,481,525,000 &
@ USF=E2H WstAS=23H Ol At N 11,803,253,000 &
@& [Het sty LBHHEIA (et s= Ao 0 22,000 &
sl 43,284,800,000 A
1120 1,183,932 1,183,932 -
JIEtS = KH&t & M2 HSt==2235H 0IAFE0Ig X2 D S X 1,177,527,000 &
@ HSAE2X HEAS=235 DIA0/2N2 JIE 6,402,000 &
& DS DEY LUise (e ES =2 (M0 0 3,000 &
2l 1,183,932,000 &
2100 D= =2 40,987,052 40,987,052 =
2120 81,321 81,321 -
=2 @ WA sts |H OIAF=ZO0IE X2 M=2 1 X} : 81,321,000 &
gt 81,321,000 &
2130 39,529,946 39,529,946 -
e @ MEX HerS=223H 0IAF20|2 Xt =2 1Xl 31,005,837,000 &
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= 20243| AT | 20243 A% = A 101
. 2XIEH Ol A | 1R ol AtoH ey =W, ZH
i g = (A) ()

@ HEAZESH HEAS=23H 0AFR0IRX2 &4  8,524,109,000 2
B1:| 39,529,946,000 &

2140 1,375,785 1,375,785 -
pJISE=2=1"0 1 @ HEH et S=2235H DIAE0EX2 JIESE2] 1,375,785,000 ¥
Bt:|  1,375,785,000 &

> o = 7 116,755,950 | 113,889,632 2,866,318
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A =

Ol

& A

(20243 03& 01L2E 20254 028 282 NtXI)

(Bl &)
= 20243191 | 20243A ¢S = ooy
— OXFEZ O A | 1XIZZ O At T AE2H 2o
g = (A) (B)
56,876,170 56,785,194 90,976
42,116,569 42 041,009 75,560
24,204,211 24,204,211 -
< MBUE AHHIGMA BE>
@IEAZ X
—DAZ0 22,204,211,0002 22204,211,000 &
@ QIAZZIAl (HEIS =225 H DX stol, 2,000,000,000 &
I 24,204,211,000 2
4112 1,698,983 1,698,983 -
DA < MBUE AHHIGMA BE>
@DEAS0IXIZ
—DAN 2 1,698,983,0002 1,698,983,000 ¥
B 1,698,983,000 &
411 8,995,968 8,963,968 32,000
e <% MEUE QHHIGMA BE>
® LIS 2 A}
— AFBHEFD| 32%100,000 872 2,100,000 &
@UEH Y
— HUDAE VLA 35,0008 «230 A1 2% 15Z %254 241,500,000 &
— 2 DAXEHLALZ 35,0008 «230A1 2tx 15254 )| 241,500,000 &
— AxY 292 56,0002 <660 2Hx15Z= %25t ]| 1,108,800,000 &
— D=H| 50,0002 %50 «157F%25¢ )| 75,000,000 &
— HEEI| AR MU 45 0002 +53A 2 #15%+08 71,550,000 &
— HEEI| AR 2 56,0002 #3Al 2x15F 28] 5,040,000 &
® ST
— A SHSI A TFE JF ALARH] 1,000,000%428+1,500,0002 8,500,000 &
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rJ
oy
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)l

@AIZIZ o=
— ZALE AS 56,0003 *340A1 2k 15F=#28H |

— ZAt= Bz 53,0003 %350A1 2tx15F=#25¢ |
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— Q2IMH0l& CH 300 +3,0008 %23 1,800,000 &
— AT HISBAF S Xl 4,000,000 4,000,000 €
— DE0sY AHAMEAZ 300,0002+20H 57]+8 900,000 &
@ EH OJ PLELI- X.”XI—
—hE2 Q2 RIE 9005+6,000 5,400,000
® 23HE L ARSE S MY 9,500,000 - 19,000,000 2
® 23122 1L
— JREBI D 2AFH] 100,000%5% %2 Al 2Hx5Z x84 )| 10,000,000 2
— =25/28 ZAH] 100,000%3Z 2 Al 2tx284 7| 1,200,000 &
— RSB T ZAF AlH| L ZHAIH| 140,000455 25} 1,400,000 &
— 2352 A AHl Y 2HAIH] 250,000%25¢ 7] 500,000
— JHEBD K} 2,500%1,0005 %28 5,000,000
— =BT SAFRISH| 500,000%25 ] 1,000,000 &
— 2352 HAKSH L KEH 1,500,000%28 ] 3,000,000 &
© = AL K|
— Crol= AL XI2H| 300,000 158254 9,000,000 &

D=4 X2l 300, oooonzwm 600,000 &
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W DS WEHS=25H A2-1-1 HHA
—D M 29 29| 20,000,000 20,000,000 &
WSO AMA (SS=25/H A2-1-1 BHA D
—SHM DA S 2,000,000 2,000,000 &
m 2ADXAME B S=23]H B83-3-
—ABSAl 019 =02 0I5 BHe —233 -233,000 2
W B A S0OIAS AAIC (BIE22 3
—XIALS] A HE—PIPESOIA IS T2 2y 2,000,000 &
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—2351 /8 Hl 300,0009 «50% 15,000,000 2
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= 2 = (A) (B)

5l E 01%3| Al 5,000 %70 %23 700,000 2
—H{ATHO! 400,000 *2CH*23] 1,600,000 &
—oIZ=RE A E 300,000 +23] 600,000
—O{B RS 2,0002%70L*23] 280,000 ¢

® BHEC 29D HHEI 25

—8H A} ©12=H| 50,0002 x50 +33] 7,500,000 ¢

—HJ|1& AlLH 7,0002%70% «203] 9,800,000 ¢

—012= 0| A 200,000 %20 4,000,000 ¢

® XA ZIHH 2
" mIIH AIE DR ADE 12943000008 3,600,000 &
— HOOAID SXES 129HE*130,0002 1,560,000 &
— JIEF WIBF 22 190,0008 190,000 &

@ %I—/\H/\-ItHA
—MZSYYDAAY S22 12I12330,0009 3,960,000 ¥
_HEY2D P ADEH| 459159000002 3,600,000 &
—SYANEN 22 10,000& 502 500,000 ¢

®AEXY T2 HSY

— DISC RS AX € 9,100,000 9,100,000 &

© e BE TN 2

—2LAFE 200,0002*20 Al 2t 4,000,000 ¢

—29H| 50,0002 *20Al 2} 1,000,000 &

@ OIXHOU\#H‘_I- 804

—299H| 500,000 %23 1,000,000 &

—CHE T2 & 302 *30,000%23] 1,800,000 &

—HII2ME U2 A 55+10,000%1 270 600,000

—OIE{I 22| XIRHI 100,000%103] 1,000,000 &

—BH A1 T B 2HEH 5| 502 #7,000%23] 700,000 2

I AIB B 212 5] 502%7,000%23] 700,000 2

—BH A1 T B 22 H| 300,000%4% 7] 1,200,000 &

—2AZ 25A1205200,0002 %23 10,000,000 &

@O, M, H21Y, Haws

—HSY 2 SAMLK X ME 500,0002 %204 5| 1,000,000 &

—3Q BREN2 AL 4005+2,0009 800,000 &

— AT 1 000510008 1,000,000 &

—3 N2 A2, HI|2HHE 100,00080 124 1,200,000 &

591 C K 30%20,000 600,000 &
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—SHZZE 2.0000] S H*15+5002 1,000,000 &
—299H| 160,000% 160,000 &
oo T2 29

—UEY J|YH U2EE 4502 H+65,0002 29,250,000 &
—X%12L I 2 TS 3,500,000 %23 7,000,000 &
©® DEY AAs NS
© M2 HUXNZMOIL 2
— FHAU X MOILF 149] HZ+23]+500,000 14,000,000 2
® FHUXY T2 2
— H=012/29 35J4%1,000,0002 35,000,000 &
— M £ SMEIEEMEHIE 10,0002 1,000 10,000,000 2
— o B T2 2ALZ 250,000 %160A1 2+ 40,000,000 &
OE=E= k]
—FAEHEAF SYH| 20%+103]%10,0002 2,000,000 &
—FAEHTA Y3 30%+103]%10,0002 3,000,000 &
@B TIXICHA AFR S Al ZD| DA
SIS AFESA AD| DA 2 2E AlA KBS 10,000,000 2
©® DENAAY ASHZ H212,0008 30 360,000 ¢
© DAAHSALAT| Q=22 150,0008*23] 300,000 &
©® DANAFSSYs LLANS LA
—SEHALAHAME DS 750002 +3A] 24243 5,400,000
—A 01X WS 300,000 %43] 1,200,000 &
® DEDE 29 J|E}
—DANASL 22N 2| 50,0002 50,000 &
—DEDFHSABY 3|9/H| S 50,0002 *23] 100,000 &
@ODAABAS =S DAL AOIL
—2LAFE 200,000 2 Al 2x13] 400,000 ¢
—AlH| 10,0002 %20 13 200,000 &
@ S2CHEIIZD) B2 402y, 52 0)
—3JH%100,000 300,000 &
® DIELS M X =
—2Z 200,0002+% AHIZ 200,00081+ 2124 AL A} 200, 600,000 &
® XX EIIAIEEH|
— AR 13]%300,0002 300,000 &
@ 1% AT AMBAIHA 2 T2
— 104*700,0008! 700,000 &
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o = 20243 Aol
- - - OXIZ= Ol ALY | 1RIZEZ Of Atod ME2H 29
& g = (A) (8)

PEENEECEEEET
— 13]%200,0002 200,000 &
© WAMSID A OFF MHHE metol O 5t
— 43]%200,0002 800,000 &
© S9N O 2IHA =Y 2o (RH2D)
— 25]%500,0002 1,000,000 &
® 2 ®AFE X S (35E)
— ZH|HI280,0009 +43% 24115, 0002 +2! X+H] 700,0 2,270,000 &
® 431 SEM OIS Y
— ALAMHI 340,0002+H A 2 XHH| 500,000 840,000
@ 48t S M B9 MAE K| St
— 34%+1,100,0002 37,400,000 &
® S2M 51 995 NS MAX
— 682%6,000¢ 408,000 &
© =2 EHTH 22 2291
— 68%%14,0002+7|E} 48,0002 1,000,000 &
®5HH UAEH A AHDR AAK
— B8 *541x8,000 2,720,000 &
® QYUE 2 HAIQYAR SRCE SEM
— 25]%600,0002 1,200,000 &
® 12 ESQN U9EH =HNA
— 5%%100,0002 500,000 &
@ =N UYEY M 8N GEHE X
— 38210,0002 380,000 &
® SEN EHZH 22 2
— 38%%20,0002+7|EI2 = 30,000 790,000 &
® QoEa M AYLS AAKS
— 38 +5418,000 1,520,000 &
® SH UYSP 2 SIDRCHE SN 2H0Y &
— 330,000 %23] 660,000
® EH UYEH 12 =80 A=Y 1
— 5%%100,0002 500,000
@ 28d SEHM NES SHAZ 22X
— 13]%320,0002 320,000 &
® B DCHEEM Q2D UB S5 AL X
— 2otCH X2 200,00081+A! AF 1002 %20,0002! 2,200,000 &




o = 20245 | 202459 % = roro
oRHEY O &Y | 1R oLy e ME2 29
& 2 = (A) (8) ot

© YA ERS &40 2 HAS SHAEN
— HI{ 300,000 +& 22 3JH%100,0002! 600,000 &
©UBIIGE PHEE A N
— 151%370,0002 370,000 &
© LT LN 24T} SHPET AETH X
— 49H*100,00024 400,000 &
© WA DR (S2IHM) BAEY]
— 151%600,0002 600,000 &
© WADR BB AAXIR
— 10024%36,0002 +& 2300,0002 3,900,000 &
® 20 N 224 HMSUE AKX
— 7424%8,0002 592,000 &
® 640 T2 WS SHZ HE X
— 4421%50,0002 2,200,000 &
® 2RQRE M
—YE, FHAAE S BRI #AF 15,0009+200 6,000,000 &
—QIROIREM & Y JIEF# AN 25,00081%1002 2,500,000 &
—9l= oI MstM 5| XA 10,0009 102 «43] 400,000 &
—FABT200H| 10,0002 *50% +1 3] 500,000 &
~HEIIZ E SBXY 15,0002 +200% 23] 6,000,000 &
—QRIEH0lE, HAYDSE S #A9,0008*2002 1,800,000 2
—S5HM T 9l 190,000%125]x25¢))] 4,560,000 2
—29= NSS= Y 5,0002+50H+23] 500,000 &
—[YUurhsr] A QRIQIE 014 CH 110%+10,00( 2,200,000 &
—[YUIThst] S5t 2] 40T *551+10,0008) 2,000,000 &
—[Yuthste] S5t X2 2E 20H10,0002 1002 2,000,000 &
—[YBEA] 25 SIS L JIEFB AL 1002+35,00 7,000,000 &
—9|=0IREY AEXI 2002+10,0002 13l 2,000,000 &
® MelatE 23 29Y| 50,00021+15F 750,000 &
® TS = QF AL 24 500,000 *2 1,000,000 2
® THEH = QF A ST 80002 *505 400,000 2
® D4 £2FAF 24 300,000 300,000 &
® D% 2=QEAI ST 8,0008+505 400,000
© HSMGA 22T A 24 150,000 150,000 &
® HSMSA 22X A 2B 8,00081+50% 400,000
@ S ACHOID T 15,0008 +50% 750,000 &
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© == E 02 50,0002 +4% 200,000 &
® AAIX] AQO| M2 ET 20,0008 %1008 2,000,000 ¢
® AAIX] A M2 ST £D2 50,0002 4 200,000 ¢
© MM AIEEAF 24 500,0009 «2% 1,000,000 &
© AlQIM AIE A T 8,00080 %508 400,000 €
© QEANYZ =T 8,000 %502 400,000 €
©® OIL DS ME 1,50082+300 450,000 €
@ ZCHAIG T 2 THZ2H| 100,0008 %82 CH2 5| 1,600,000 &
® FOPJbs Al A3 L 24| 500,000 500,000
© VEHADE? Y L 1M H| 500,000 *28 )] ,000,000 &
© PEHAD A2 ZAK 2 MMPI 5,800%50 %+ 0l LI 770,000 €
® ZOHALZ EATHUIO0IN 24H 200,0008 %73 400,000 ¢
® WAL 2T HHOI K 24H 200,000 <83 ,600,000 ¢
© DAY S L DS LAZ 100,0009 *3A| 2H+23] 600,000
® AEARR ATHHFOI M 24| 200,000 +83] ,600,000 &
© AFSEARZ 18 ATHHIE 150,000 43| %28t 1200,000 ¢
© AFOI2E2HOFE ALAF 810,000 8«8 %25t 280,000 ¢
© AFOI2E2HOFE! 2HA! 824%3,000 7 = %28t 336,000
© ALOI S 2H0F 2 AHHI 50,0009 %2 Al 2H% 15 #2734 3,000,000 &
® K2 DS 228 500,0002 *135] 500,000
© EE2Z 319 1,0002*700M 700,000 2
® NP DS S2AH| 200,0002+3A| 2+ 600,000
©® EECIRIALY
SR SEM AD 22 H IS 10,0002 %504 500,000
—BIRCH2ES B} SR W BOF A JEE 10,0009 500,000
— R0 SEM DA U MY SEE J|EE 10,0002 ! 500,000
©® B ™A 12942 44,000,000 44,000,000 &
® 24 oJoFE Q) 257]%2,000,0002 4,000,000 ¢
© SMEX 2 HIZSX 22l 258(+6,000,0008 12,000,000 2
© THEZ AL 54 2H| 10,0002 #1241 2He1 0F#3 2 %25t 7,200,000 &
® Y2 3=
—AlH| 8 *42%55]%3A1%10,0002 4,800,000 &
—2HAIH| 8 %42 #53]%2,000 320,000 &
—2 5| 441%38tx53]%70,0002 4,200,000 &
—S2H|YSH0|EH| 55/%200,000 1,000,000 &
8822 %53]%8,000 2 640,000 &
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—CHHI R S =4 431%100,0009 400,000 &

® UYL HADNERER S22 8H*420,0002 3,360,000 2

®dsYe Mz

—AIH| 8282 *34A!1%10,000 1,920,000 €

—2HAIH| 8 *82x2,000L 128,000 €

—£5EHH| 4A178Ex70,0008 1,960,000 &

—S2H/YSH0IEH| 300,000 300,000 &

® d&YL 92H| L 40 ME S 300,000 300,000 &

® UsYR 2 L AB2SE

—A=2st o

—BFEHE| 840,000 320,000 2

—BHHFR| 860,000 480,000 2

—AlBH= 8%+160,0008 1,280,000 &

—2==2 &2/Y 8%+140,0002 1,120,000 €

® HISQIEEs d4S= L &IHH| 500,000 500,000 2

@ BISOIEE (3 &

—AlH| 8% %45]%34A!%10,0002 8,640,000 2

—2LAIH| 8H*9U#43|+2,0002 576,000 2

—Z8HH| 4A1%88!x45]%70,000 8,960,000 &

—S2H|YEH| 45]%300,0002 1,200,000 €

—224| 8Y*4U* 43/+80002 1,024,000 €

@ ISOIEE M2

—AlH| 882U *3A1%10,000 1,920,000 &

—2HAIH| 882 #2 0002 128,000 €

—258HY| 4AIx78H70,000 1,960,000 &

—D=Y|, AIE I 82120,0008 960,000 &
—S2H|YEH| 250,000 250,000 &

© ISOIEE 221 LAB2E

—2pA QY| 250,000 %10 2 2,500,000 &

—HISQIE 5 O

—AlBHE BHHFX| 8«3 «50,000 8 1,200,000 &

—AlBHE BHEFE| 85«3 +50,0008 1,200,000 &
—2== 2|y 8%H«142,0002 1,136,000 &

@ HIEQIEIS O|2H LB Lo HE S 300,000 300,000 &

@sEs2%y|

— J|S W5 2,600,0008 * 23] 5,200,000 &
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o = 202431 AT | 20243 H Q%
- OXFEZ Ol ALY | 1XIZ=Z Ofl At NEED 2 o

= 2 = (A) (B)
— {23t 2,000,000 * 23 4,000,000 &
— AFBI= X BHE 3,200,0008 * 23] 6,400,000 &
— FESE 2 200,000 * 23 4,400,000 €
— FABEE 2 400,000 * 23] 4,800,000 ¢
— AFEBEE 2.800,0008! * 23] 5,600,000
@_/'k_oigxi X.I XI-‘:'

sol2m YRS 2A2 (11,6328 + 10,940)/2+1, 14,672,000 2

@srEx ey
— 2SI 2 500,0009 %23 5,000,000
— 2EEREE 2,700,000 23] 5,400,000
— HCHTSHE 1,500,000 %23 3,000,000 &
— B8 3,400,0009 %23 6,800,000
— 2t53 0} 2,300,000 %23 4,600,000 ¢
— CIXQI Y AFEHE 2 800,000 *23] 5,600,000
— AZEDEE 2,000,0002+23] 4,400,000 €
— 2510125 2,700,0002+23] 5,400,000 ¢
— BAIZ BB 950,0009 23] 1,900,000 &
© HAC2RZOMSHAY
—EHREOITHS AAIY EHR EOHE &I 502 #8,0009 +21 2,000,000
© B2-1-3 NYDS 2 24 IH ZT202 X
—(MEURSA 29) 2= A Xl 2,0002«2502+2HAl 2,0 1,000,000 &
@ B2-2-1 sHAlCIZ 245} 98t DS IE g
— (BMAHDE 29) B2 KL 1,000,0008#21} 2,000,000
@ SHMBIEA 22 19/ 10,000,000 %12 120,000,000
© HIDILIAl & FAlAl B S & A 22| 6,000,0002 *23 12,000,000 2
® JIE} BHAX| 2 AL
— RFIIE 3,000 +5007H+2] =250,0002! %2} 2,000,000
® SIS TIAIL HA& L X2 SHOH(EHAE= XL R
—B}AFA SIEHRI, MIE M SXIE B2l 2,000,000 9 18,000,000 2
—HA)| QAP A2 600,0008 <1271 7,200,000 &
—SIFAIRE PolH| 2,500,000 <404 2 10,000,000 &
® SIROE2 SHYE 2het3] 10,0008 * 100 * 43] 4,000,000 &
© S5t 202H5] 10,0002 * 80 * 23] 1,600,000 &
@ HATZXAF HES=25]H B3-3-2 HANL S
B TpVE] - ~76,000,000 &




o = 20245 | 202459 % = oo
RHEY O A | TR oAk . 29
& 2 = (A) (8) ot
B S)dzFdEz 18 2 280,000,000 &
& zT =332 A2-2-1 U2 AR 042
—stzdl 2 5,900,000 5,900,000 &
& zZeR %%ng A2-2-2 THEl ChstERIS
—st2E AT, ooo 0002 1,000,000 2
D @2l JIES A 2% 5
—CH s H o 7 °JI:|| EH:‘II 14,000,0 14,000,000 2
w =25 o Q=0 M2 H5
—[et algy HIOI@ —2,200,0003 ~2,200,000 &
—[et S8t - 2,000,000} ~2,000,000 &
—[gsimisa] Qs 204 ~2,000,0002 ~2,000,000 &
—[YsA] 25 2 000,000% ~7,000,000 &
W DS O i%%aiwﬂ Bo- 818
—D=E XA 411,0008 411,000 &
W 2RDEH LU DI-2-2 220 M T3
—[BHEA] AU Q2 AE 014 CH 1102%10,00( 2,200,000 &
—[YUrThst] S5t 24| 40 *581+10,0008) 2,000,000 &
—[2LHER] REHY XY 22 70§ 10,0008%100% 2,000,000 &
—[YBEA] 25 SIS L JIEFB AL 1002+35,00 7,000,000 &
Bl 1,008,149,000 &
4330 L A[Z2l] - - - -
4331 - - -
AL
Bl - @
4332 . . -
INEE]
Bl - 9
4400 D=ClHI 251,000 250,500 500
4410 X2 0/ Xk - - -
4411 - - -
NELP
Bl - @
4420 JIEt D S 2IBI8 251,000 250,500 500
4421 251,000 250,500 500
Eeal ® T
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20243 H A

ot = =V 0= = AZtoH ~
- — 2X=Z Glat | 1XHFE Ol At (A-B) &ME2N = A
& g = (A) (8)
— 8 S5 N84 S53 BHE 220,000,000 220,000,000 &
© 23 F&E4d| 500, OOO% 500,000 &
OFSg=t=
—15,000,000*25} D] 30,000,000 &
m LSt HefSE33H B6-1-2 Bu= Hals T
-3 L 0IXI= =9 500,000& 500,000 &
sl 251,000,000 &
4500 ME2 2,280,272 2,485,272 A 205,000
4510 ME=32 2,280,272 2,485,272 A 205,000
4515 - - -
SE3HE=
A - ¥
4516 - - -
DUHEEZ
2 - ¥
4519 2,280,272 2,485,272 A205,000
HSEESIHEEZS @ HSE3HEEZ
A== 90| ZIta=281 9,000,000,000& 9,000,000,000 &
@ NMPH eSS H MY/HE=222] HASLIHA2 -6,514,728,000 &
m 2N HeSE23H dY/HMEsa2e| A2 20142 -205,000,000 &
Al 2,280,272,000 &
4540 AtstEaEH Y Sty &8F = - -
4541 Mt EHE S - - - &
4542 St EEES - |
4600 08l 8| 125,671 95,279 30,392
4610 0llHl 8| 125,671 95,279 30,392
4611 125,671 95,279 30,392
oyl bl @ JIElx tHets=33 A olblgl2el olslsl @ 50,000,C 50,000,000 &
@ JIElX et s=E3a2 A oiglgl2el olslgl @ 20,000 20,000,000 &
@I HstSS33H dlglgl 1x =3 34 18,480, 18,480,000 &
@ IJEH™ HAS=ES3H oibIb 1X =2 SN 6,77¢ 6,774,000 &
@ I HSASS3AH(FCH) Hettsr2i o8l bl 22 25,000 &
m JEld (HeEsSEZ2 A oldldl 2XF =& X 35,942, 35,942,000 &
JI2lX R S=EZ2H olbldl 2x =& 2 —5,6( -5,600,000 &
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o = 202431 ST | 20243H9E = 12t oH
— OXFEZ GIAY | 1R Aty T AE2H =
2 g = (A) (8)
P EREFEEEEE EE G EREREENEEEE 50,000 &
BH: 125,671,000
1200 & Xl 2IELATAHK & - -
1220 EX XA E - -
1221 - -
SXNRISAHL BH: - =
1204 - -
St EXKIE
BHH: - =
1229 - -
JIEFE R XA K| 2
BHH: - =
1240 D EFXHAXI & - -
1242 AR EE 25 - -
BHH: - =
1243 ZOILOIS X E - -
1249 JIEFXFAI X & - -
BHA: - =
1250 A28 =)| =25 ¢l = -
12522 2E =01 70(5 - - B - &
12532 2 E=2A=0(5 - - B - &
PIEEEEREPIE - -
BH: - =
1255 SHES = - -
1260 o2& gl = =
1262221 70| 3= g - -
BH: - =
PP EEESIEEE - -
BHI: -«
1264240 &3 35 - -
BHI: -«
PP EEEBEEE - -
BH: - =
12662/ SHSE|F - -
BH: - =
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o = 202431 9IS | 20243 AT = ooy
— OXFEZ O A | 1XIZZ O At T AE2H 2o
g = (A) (B)
RS 15,466,465 15,005,347 241,118
1310 98 DA AN = 15,466,465 15,005,347 241,118
1311 - - -
E X0 |
S - =
1312 1 1 -
H20 | ® }==E3 1,000 1,000 &
S 1,000 &
1313 - - -
PE20YY
S - 9
1314 998,465 1,008,465 10,000
J1H 21204 ® B==E3 1,000 1,000 &
® B==E3 1,000 1,000
® AHAMOIAZ S 2Z" 3,366,000 3,366,000 2
® 2E S 7 5,954,000 5,954,000 2
® B=E7 1.0002 1,000 &
® QIHICI £ ‘30" 164,536,000 164,536,000 ¥
® B XIZ= 1,863,000 1,863,000 ¥
® HOIME2D| S ‘165" 230,876,000 230,876,000 &
® HIOIAT S 37Z" 104,819,008 104,819,000 ¥
® BUST S 24F 47,179,000 47,179,000 ¥
® 2400|132 E ‘6" 2,831,000 2,831,000 &
@ BHRCH 2012 AP 2,200,000 2,200,000 &
® MUDE ZH|, =5 JIXM, DEE S 51,500,0002 51,500,000 ¥
® YALRH(LSRE)
— D 2 E S5 HA XY FH 2H| 5,000,000 %1 50,000,000 ¥
@I H I RCHE S
"_SOrE K5t AZE J|AHH RY(SE, WI 0Hol3, 20,620,000 &
D 40 QS 0ICIAH 25 (0H0IH, IIEC, | 3,240,000
—HDAS A2 QB AAIZ SS AAY DE(LDA 31,500,000 &
JISN2SHREXE 2 2HX MA L AL HY I|X 13,771,000 &
—2912 JIX 22 10,000,000 &K 10,000,000 &
—2 XA 2| 30H*800,000_D S A! 2,400,000 &
_ A BOI XA 210l A 10§x700000 B2 4 700,000 &
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o = 202431 AT | 20243 H Q%
- OXFEZ Ol ALY | 1XIZ=Z Ofl At NEED 2 o
= 2 = (A) (B)
—SHAIE L E= {[*2000000_1 = & 2,000,000 &
—HAY DUE 401*550,000_ 10 =2 Al 2,200,000 ¢
—BIT2ME 2T 1400000 D24l 1,400,000 &
—HASLES 10{*5000000_ 124! 5,000,000 &
—Q AFEFH] 15,453,000 * 1A1_0|2H Al CHE! A E 15,453,000 2
® BEEAY
— B2 DSLRIMHIEH M2, BX, HS2I9S, HE 30,000,000 &
® B==3 1,000 1,000 &
© SBZHE S 35" 121,550,000 121,550,000
® BROISE XD S 112 67,903,0008 67,903,000 &
& 22T HSS=23H A1-2-3 DS I 5
—HNWE, LI2ME NS 3al 2L o] AT AL 15,600 15,600,000 2
m 2252 HEES25H A1-2-3 IS I 5
—Z R AR DA ~10,000,000%! ~10,000,000 &
EH: 998,465,000 &
1315 359,545 088,451
eSBIIE=E=EE] ® B==3 1,000 1,000 &
© 22401 34592 EH| 5,000,000 1 T 5,000,000
® 2210 3145|198 L E = 3,000,0002! 1 T 3,000,000 &
©® SIS A OA EHIE 2EEH 22 1,000,0008 « 4 40,000,000 &
©® AADHH A U AFEA S HIE 22 4,000,000 40,000,000 &
® #HYE ZTeig, 2UH S DA 22l 55,000,000 55,000,000 &
® WHE )| DH 2 15,000,000 15,000,000 2
© DRERC AR AT AFRA HIE 11,800,000 11,800,000 2
® N&=0l D] A2
— WLhE)| 22| 5,000,000 5 25,000,000 &
© MO HEES 2e| 2 HIZE 224l 2,000,000 2,000,000 &
@EILIEHYS
— D2 2 ZE10H+2,000,000_ 124! 2,000,000 &
—98 LES 2(1+2,000,000_0 =2 A 4,000,000 &
—Io2 AEE S #HE &I 100H*2,000,000 20,000,000 &
@IILIZESE S
—AlY D I P Y == HIE DA 10,000,000 20,000,000 &
—MAGITA U BMES N AT P2 1,000,000 %24 E 2,000,000 &
— W40 A FI|27Y 2,500,000%42! 10,000,000 &




o = 202431 AT | 20243 H Q% = oo
- — OXFEZ Ol ALY | 1XIZ=Z Ofl At T NEED 2 o
= g = (A) (B)
—HEE LE= 19 1,500,000%20H 3,000,000 &
@ DI HSES25|H A1-1-2 FEB AHA 5
—AF2 A FDIHIZ 22 11,800,000 11,800,000 &
@ AEBRH HBES25|H Al-1-2 SB AHA 5
—HMAMSI 2L 8L * 2,000,000 16,000,000 2
® U (BS=235H B3-2-1 HP(MZ)H MZ
—HEAIB ARSI EH U 2, 850 0002 2,850,000 ¢
W 222 BSE25H Al-1-2 RS HHA 5
—ZEs2C AJIHIE 22 14,300, ooo<>4 14,300,000 2
W AAZEH HESES2 5/ H A1-1-2 28t HHA S
—CHAE S DL =9 YSAIAH ;luH 43,000,000 43,000,000 &
W HAEEY HBES25H A1-1-3 ADIEXTA &
—HEES e HH(ISMS) Z & LHR HAXX| 440,0002 1,320,000 &
—HE2 522 MA(SMS) ZEUHE 22EX 693,0002 12,474,000 2
EH: 359,545,000 &
1316 240,001 30,001 210,000
Xt et olel | ® B==3 1,000 1,000 &
@ ESH HSHES25|H HLIN S JFLSBR0HLY
—oi22 521 22 30,000,000 30,000,000 &
WESH HSSE23H TSN 22 ISR
—92 N=x 22 210,000,000 210,000,000 2
BH: 240,001,000 $
1317 871,266 865,466 5,800
AL ® TAHZ N Y 2EX 55
— ZUHA S 3,500 13,0002 45,500,000 &
—2QI M SHEE 5002 +40,0008 20,000,000 &
—HIS A, S8 110E%13,0002 1,430,000 &
—2UHE A 25,0305 13,200 330,396,000 &
—2UYH BB 315%100,0008 3,100,000 &
—2ooiaHe 6%*200,00034 1,200,000 &
—FM A Z &2 DB 9Z+21,188,000 190,692,000 &
—0l24e 3Z+14,400,0008 43,200,000 &
® 2 S8 = 5002 #20,000 10,000,000 &
® 29| (MG TA T8) 1,0002+32,6002 32,600,000
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! = 20243 HH = 20243 HH = = A 2toH
- — X3 Ol At | 1XtF=E Ol A C(’A_'E:;)ﬁ MEZA = 9
z g = (A) (B)
© MANE, 0B 2 JlE & DB 85x23,418,500& 187,348,000 &
mASCAHE USRASEZIH A1-2-4 A2 JIs S
—&Z2Y F=HI0I=(Research Guide) MZH<I 8t Libguid 5,800,000 &
2Rk 871,266,000 &
22272
2Rk - &
12,997,187 13,032,963 N35,776
A SOIRHA © et WSsHPAE ASS At
— e NEAHAPZAIE M=SAE7,000,000,000& 7,000,000,000 &
@ ANE2EH HSHSE33H A1-1-2 &letd BIHA S
— & NsAPAIE A=A H=81012 3,032,963 3,032,963,000 &
— 8 NSAPAIE AESSAI HAESAFEHEHE Y 1,500,000,000 &
— WAARA JISAF EEHE SAFH1,500,000,000& 1,500,000,000 &
W A2 HESE23H A1-1-2 T &E BHA 5
—WAARA JISA EEHH 2 AF-35,776,000& -35,776,000 &
2Rk 12,997,187,000 &
1320 28 DA XHAE EH| - - -
1321 LE D THAF - - - 28k - &
2100 ==& e - - -
2110 S| Xt 24t st = - -
2111 S =48 - - - A - ¥
XA st - - -
2210 &I X 2 Atst = - -
2221 - - -
HIIX = 4E
2Rk - &
2220 JIEt DX 2T AL St = - -
2221 - - -
AU E=8=
2Rk - &
2229 - - -
JIEtDE RS & &
2Rk - &
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20243 H A
2XFZ Of &Y

20243 H A
11X 0 &t

o
2

& g = (A) (B)

I = A & 116,755,950 113,889,632 -

DAFE X0 2 A2 - -

1100 J|2 S - -
BHI: 2l
BHI: 2l

2100 J| 22 - -
BHI: 2l
BHI: 2l

pIISE=I=L

BHAI: 2l

IR 116,755,950 113,889,632




